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           How much?!!!

 
           [image: ]Each Butter Beer is £4.95
There are 4 people but 2 are prepared to share a beer.
How much change will there be from £20?
So we need 3 Butter Beers
3 x £4.95 = £14.85
£20 - £14.85 = £5.15
So our change is £5.15
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Maths Challenge
Harry Potter World

$ So we're off to see the magic that is Harry
?’ . " Potter but don't know when to leave to get
¥ m there in time!
Tav Pafo
Hatly Pafes

Ifit takes two hours straight there and we
PN need 2 breaks of ten minutes each to stretch

i our legs, what time should we be on the road if
we have to check in 10 minutes before our
time sbot of 11am?

‘Two hours straight plus 2x ten minute breaks
60 mins + 60 mins + 20 mins = 140 mins (2 hours 20 minutes )
Check in time = 11 am
Ten minutes early = 10:50 am.
10:50 am - 2 hours 20 mins = 8:30 am
So departure time is 8:30
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